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Which of the following Premier League teams will not be 

playing in the Champions League final?

a. Arsenal  

b. Liverpool  

c. Tottenham Hotspur  

a. Arsenal - In an amazingly successful few matches for English 

football, both Liverpool and Tottenham Hotspur have qualified 

for the final of the Champions League, while Arsenal and 

Chelsea have made the final of the Europa League final. It 

makes makes England the first nation to boast all four 

European finalists in same season.
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Why is Donald Trump ‘very unhappy’ with North Korea?

a. North Korea has been testing missiles again

b. Kim Jong-Un has been making fun of Donald Trump on the 

internet

c. a US government official has been arrested in North Korea

a. North Korea has been testing missiles again - North Korea 

fired two suspected short-range missiles, its second weapons 

launch in five days and a possible warning that nuclear 

disarmament talks with the US could be in danger.
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Why did organisers of the Belfast Marathon have to apologise to 

competitors?

a. they only had half the amount of water bottles they should have  

b. the course was 0.3 miles too long  

c. they only had enough medals for the first 500 competitors

b. the course was 0.3 miles too long - Approximately 460 

additional metres were added to the officially measured 

course of 26.2 miles due to human error. The lead car diverted 

from the official route adding the extra distance.



What are the first two names of the 

young person at the centre of this photo?
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Archie Harrison - The newest member of the Royal Family, Archie 

Harrison Mountbatten-Windsor, was delivered early on Monday, with 

Harry saying after the birth that he and Meghan were "absolutely 

thrilled". A surprise choice for a first name, Archie was not among 

the bookmakers' favourites of Alexander, Arthur and Albert.
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The new royal baby is …?

a. fourth in line to the throne

b. seventh in line to the throne

c. eleventh in line to the throne

b. seventh in line to the throne - The list of royals in line 

before the new baby is Prince Charles, Prince William, Prince 

George, Princess Charlotte, Prince Louis, and Prince Harry. The 

new royal will not have the title of Prince until Charles 

becomes King.
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A passenger plane caught fire while making an emergency landing at 

a Russian airport last week. Before it landed, the plane was believed 

to have been struck by …?

a. ice

b. birds

c. lightning

c. lightning - The plane operated by the national airline had 73 

passengers and five crew members on board when it touched 

down and sped along a runway spewing huge flames and black 

smoke. The accident claimed over 40 lives.
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Donald Trump doubled tariffs (importing tax) on which country  

last week?

a. China  

b. Australia  

c. Canada

a. China - President Donald Trump more than doubled tariffs 

on $200 billion in Chinese imports. Some financial analysts 

believe that the escalation of the U.S.-China trade fight could 

cost the global economy $105 billion.



At which recent event was this one of 

the many outrageous outfits worn by 

attendees?

a. The Met Gala

b. The Grammys

c. New York Fashion Week
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a. The Met Gala - The Met Gala is held every May in New York to 

celebrate the opening of the Metropolitan Museum of Art's latest 

exhibition, with guests asked to dress to match the theme. For 

celebrities, the annual Met Gala is a chance to show the world how 

famous, fashionable and flamboyant you are. Outfits included a 

chandelier, burger and a crown of feathers.
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Which political party is the third largest in the UK Parliament 

after the Conservatives and Labour? 

a. Scottish National Party  

b. Liberal Democrats 

c. Democratic Unionist Party

a. Scottish National Party - With 313 seats, the Conservative 

Party is currently the largest party in parliament ahead of 

Labour (246). The Scottish National Party has 35 seats which 

puts it ahead of Change UK – The Independent Group (11), 

Liberal Democrat (110 and the Democratic Unionist Party (10).
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Why is a fiery debate breaking out across Beverly Hills, 

California?

a. they are considering closing bars at 12am

b. they are considering banning all tobacco sales

c. they are considering changing the name of the area

b. they are considering banning all tobacco sales - The city of 

the rich and famous is thinking about becoming the first in the 

US to outlaw the sale of tobacco products everywhere except 

a few cigar lounges.
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Why did the Guinness World Records refuse a record for the fastest 

marathon in a nurses uniform?

a. the runner was wearing modern medical clothing instead of a 

traditional nurses dress

b. the runner didn't wear the nurses outfit the whole way

c. the runner had to be helped over the finish line by an actual nurse

a. the runner was wearing modern medical clothing instead of 

a traditional nurses dress - Guinness World Records has 

decided to overturn its decision and award the record to the 

runner saying its guidelines are "long overdue for a review".



In which city did this event occur last 

week?

a. Edmonton, Canada

b. Mildura, Australia

c. Baghdad, Iraq
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b. Mildura, Australia - The storm swept over the inland 

Victorian city with wind gusts reaching up to 87km/h. The 

storm turned the region into darkness and created havoc on 

the region’s roads, however there were no reports of any 

serious accidents or injuries.
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Which major UK city has recently introduced traffic-free days 

in their city centre? 

a. Edinburgh  

b. Birmingham  

c. Manchester

a. Edinburgh - The city has become the first in the UK to join 

the Open Streets movement to help reduce air pollution.  The 

movement has seen cities around the world temporarily close 

some streets to all but pedestrians and non-motorised vehicles 

on a regular basis. The closures in Edinburgh will take place on 

the first Sunday of every month as part of an 18-month trial.
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Where would you find the Sea of Tranquility?

a. The Middle East  

b. Central America  

c. The Moon

c. The Moon - It is one of the large dark patches on the moon, 

caused by iron-rich sediment from ancient volcanic eruptions.
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Which two parts of UK are separated by the Bristol Channel?

a. Northern Ireland and North Wales  

b. England and Wales 

c. Scotland and Wales 

d. Scotland and England

b. England and Wales - The Bristol Channel is a major inlet in 

the island of Great Britain, separating South Wales from Devon 

and Somerset in South West England. It extends from the 

lower estuary of the River Severn to the North Atlantic Ocean.



Which country has this flag?
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India
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Which of the following football teams have gained promotion 

to the Premier League? 

a. Norwich City  

b. Swansea City 

c. Birmingham City

a. Norwich City - The Canaries, who sealed the Championship 

title over a week ago, were forced to ditch their specially-

decorated yellow bus for a city sightseeing model as they 

paraded the trophy through their city on an open-top tour.
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Which of the following is true of Britain's power supply last week? 

a. It was the first time nuclear power supplied 100% of the electricity 

for a week 

b. It was the first time coal was not used for a week 

c. It was the first time Britain used less power than the week before

b. It was the first time coal was not used for a week - Britain 

went a week without burning coal for electricity for the first 

time since the 19th century. Coal-free power would become 

the "new normal" as Britain generates more power from wind, 

solar and other renewable sources.
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A UK player was finally defeated in what could be the longest ever 

single continuous game of Minecraft. How long had he been playing 

the same game? 

a. 5 weeks  

b. 5 months  

c. 5 years

c. 5 years - Phil Watson, 31, of Newcastle, had been playing in 

the most difficult Hardcore mode, which means his character 

cannot be brought back to life. Having walked 6,316km, flown 

7,798km and jumped 732,389 times, he had got "a bit full of 

himself" and been startled by a zombie baby and eaten by a 

spider.



What is the  full name of this UK singer?
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Michael Rice - Michael Rice will represent the United Kingdom 

at the 2019 Eurovision Song Contest with ‘Bigger Than Us’. He 

will perform in the Grand Final on Saturday 18 May in Tel Aviv, 

Israel.



The End


